Math Virtual Learning
Algebra1 S1

Graphing system of linear equations that
coincide
April 29, 2020



_Z;ﬁ /‘/‘/‘hi ﬁfeﬂfimﬁﬁ

DDDDDDDDDDDDDDDDDDDDDDDD

Algebra | S1
Lesson: [April 29, 2020]

Objective/Learning Target:
Students can determine if two lines coincide when
graphed and that a system of lines that coincide have
infinite solutions.
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: 2 : : : :
If a line has a slope of — ; , What is the slope of a line perpendicular to it?
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A) -2
)9

Incorrect. This is the same slope as the original line. Perpendicular lines have opposite reciprocal slopes. The correct answer is 5 :

B)

ol e

Incorrect. Perpendicular lines have opposite reciprocal slopes. This slope is the opposite but not the opposite reciprocal. The correct answer is 5 .

9
T ==
)2

Incorrect. Perpendicular lines have opposite reciprocal slopes. This slope is the reciprocal but not the opposite reciprocal. The correct answer is 5 .

9
D) =
)2

Correct. Perpendicular lines have opposite reciprocal slopes. g is the opposite reciprocal of — % ;
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Which of the following lines are perpendicular to the line y = 7x+3?

2
) . A)y:—lx and y=—lx—l2
y=—-=x 7 7
7
1 1 1 3
=12 Bl y=——x-12and y=—x——
i==—a )y - y=ox=g
1 3
Y7373 C)y=—7x+E
2
y==Tx+—
D) all of the lines are perpendicular
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1 1
A y=——xand y=——x-12
) ¥ = y -
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VIDEO: CONSISTENT AND DEPENDENT

https://www.youtube.com/watch?v=EmuhDYn3D3qg

VIDEO: Solve a Linear System of Equations by Graphing (Infinite Solutions)

https://www.youtube.com/watch?v=H|E8CJaHrh0



https://www.youtube.com/watch?v=EmuhDYn3D3g
https://www.youtube.com/watch?v=HjE8CJaHrh0
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Name

GRAPHING SYSTEMS OF EQUATIONS #2

Directions: Find the solution for each system of equations by graphing the system. The solution is where the graphs
intersect. Write the solution as an ordered pair in the space provided.

y=ldxht

ye= Bxd

y=1/5x+2

1){y =-12x+ 1 golution ( y 2 {y =-2x - ; Solution ( ) 3){y =2x-7 Solution ( )

- N WA OO N ®
- N W s N ®

8 -7 654 3 -2 12 3 4 567 8 8 -7 6 -5-4 3 -2 12345618 8 -7 6 -5-4 3 -2

12 3 4 5 6 7 8

U s h Koo h
P VI N " S AR O 3
T N S S A O 3



_Z;ﬁ i ﬁrmﬁeﬁs

PRACTICE PROBLEMS (4-6)

NDEPENDENCE SCHOOL DISTRIC

Al 7=2+3 Qulution ) N ¥=ETO  golution( ) O Y=1Bx-1 goution ( )
_ 5 y=-5/13x-17

y=-X- y=-Xx-2
8 8 8
6 6 6
4 4 4
2 2 2
: o a2 o a n
v
8 6 -4 2 2 4 6 8 8 6 -4 2 2 4 [ 8 8 6 4 2 l 2 4 [3 8
2 2 2
-4 -4 -4
-6 -6 -6
8 &
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PRACTICE PROBLEMS (7-9)

8

Solution (

;’:j::: 8 Solution ( ) 8){3 : ; " i?lution ( ) 9){}}: : f//;)(( -+ 62
: T "f 4 8 ! 4 Aj. s : b M
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D{Y =-12x + 1 golution 6.4 2 {y =-2x-3 Solution (-2, 1) 3){}’ - 21);5' 7+ . Solution (5, 3)
y= 10X

y=13x+6 _ y=3x+7

-8-7-6-5-4-3-2-1 4.5 6 7 8 -8-7-6-5-4-3-2 123456738 -8 -7 -6-5-4-3-2-
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>
Hh]y==x-3 No Solution 5] y=x+6 Solution (-4, 2) 6)] y=13x-1 Solution (-3, -2)
=x-5 =x-2 =-5/3x-7
y . y 8 y 8
3 P ?
L 4
A 2
8 s 4 [ 2.4 8 é 8 -6 -4 4 ; §
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7 |y=-2x+4 . |y=x+3 ] D |ly=52x+2 ]
{y —— Solution (4, -4) {x _5 Solution (2, 5) y=1/2x-6 8 Solution (-4, -8)




